B 3L ik B — A RS 106 SEE AL BAFE K

% Fr Al ﬁ%%iﬂ%ﬁ%%}ﬁzﬁfﬂi m B AHwm
#FHikas ¢ 2322 2 ﬂ:%%%_
FEEER

1~ 84— ETERARRBZEFHAS  FLFFEABRIRE > LA
FAFitm
2N ENAEEIREXREAES  BEUMAT TH L

ﬁ%ﬁ%?&ﬁ%:]?(z<—l .645)“—“0.05 ~P{Z<-1 96)=0.025 ~ fo.05.25 =1.708 ~ fp0s24 =1.711 ~ fo.025.25 =206 ~
fo02524 =2.064 ~ Fopgsz12=3.89 ~ Fops 12,2=194

1 TR AT AR T SR R (R ZAHRARSE o LRSS T — B SO0
R BRI SR EE (TR R R RS BRI T

AR HEE
B T 1 2 3 &4t
2 75 125 50 250
T _ 50 225 75 350
il 125 350 125 600

(1) S5REEHR PO PR AE — S R Z LB R T 2(1057)
(2) BEEEAEAFHOER T - SR HRL I R T? (1053)

2 fEE—AEDIGREEE AR RS  BROEEIE RS/ R IR R4/ -
(1) SFREmEtER — B > H— BN G AR R 70N Z iR R 7 (1097)
Q)ERNEHEE A A A36fr 8 - R T I AR 70/ Z A R A2 (1057)

3_ﬁ%@@@%k%i%ﬁﬁﬁiﬁﬁ%%%%%%ﬁmﬁﬁﬁﬁﬁLME%%%%%ﬁ%
F— 15 10044 KB A K BEIE AR » DR TFIGER6. 5/ Nk -

(1) FHHE A E{H 5% 2 (ZHEEH - (1057)

(2) FBEREEEEREZEE - (1077)

(3) FERUEEACER I EEAB K T HEEERNRE 2 - (1097)

#1843 2 & [Hxnaa]




4 THEEHE 100/ TEFE B & HAME TREGORI Y MARTS - ER{E T oeaT BB 1S/ N e S I
08 - BRI B REESN  SE—EBE25THEE R AER BRI
ANERERE B 1355 FLEME 2 Rasy i - S 100 B2 S A MBI EATER 2 MRS EREER
5% BEE KA > SR HMBER B 22 B Kddam - (1097)

5. ERE— ST B EAS T - EE R G IR T RS 2 2R
55 > BERHT

/R
=l He2 a3
12 4 9
15 8 3
13 6 5
14 5 7
17 4 4

(1) BEEHANOVARE - ffa = 0.05[FF FRERFE - (1057)
(2) TES%REE/KE TREE ZEESZBMEG A - (1057)

B2A 4% 2R




